CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2021

Roll No. SET : A
CEIR

SCIENCE
(Physics, Chemistry and Life Science)
AT -1
PART -1
(srreafores 599)

(Subjective Questions)

(Academic/Open)
[ =< Td il A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 2L hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

g-U A WA | i B AR (STetes) O AR (FRgRTe)| el @ QN An @ g
% IO B A IAX G § oG 31 90 1 AF-D GOEm SN 8N WX Ued SuR-gRas
3 a Rar stom @ AF-IL % [0 oRed @ O qe H wHd Rar S sreig wlen s
B ¥ O geT [ TOERi B -1 5 9eE-Ue R s

WH $ 9-0 § FA 9 U9 T AFHIL 3 S99-T & %A 30 9

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 9 and of Part-II are 30.

5505/(Set : A)/ | P.T.O.



, (2) 5505/(Set : A)
P T FY A [ I 3T JoT-GT § JET 7 4 7 597 9 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 9 questions.

T97-Y3 7 qlfe &1 @ T 79 T4 #S TR T @ B G F-YAH % FI-IE 97 [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FY T S T 0@ & X & G, F97 H HHIH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-giaaT % & H @il 9=/ 9= T 88

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfARET @ o e T& A o efeaEdgar & i@ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T 3F9T @)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 T 37 @ [@ B Grad F T & J9797 g T &l & GhET I 59
T 7 g o qrar w&hHe T8 RAT A3m

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FeT S &

All questions are compulsory.
(i) & FaT ar Jedl 7 s [[EeT BT JTET 8l

Internal choice has been provided in long answer type questions.
(iii) HEF FI9T & 7% ITH G790 TT &

Marks of each question are indicated against it.

5505/(Set : A)/ |



(3) 5505/(Set : A)
gvs -

SECTION - A [ Marks : 10
(e fm)
(PHYSICS)

1. fogq deR o fagq 09 & 9 g8 o1 @ oTuer B arg & & S S 8 7 2

Why are coils of electric toasters and electric irons made of an alloy rather
than a pure metal ?

2. I FYOr qU ST T § o o 3
Write the difference between convex mirror and concave mirror.

3. Tmited @ dieax et fagq Aex & Rem @ sRifef & aoe Hifm) 5
Explain principle and working of an electric motor by drawing a labelled
diagram.

HAYAT
OR
(a) URHATCTGT & STUHT T ARME & ! U IR § Jaied [gg o & &R 39
o 3 @1 amReE FvTy 3
What is solenoid ? Draw the magnetic field around a current carrying
solenoid.
(b) Ui &1 SfoT-ged | ford 2
Write the Fleming's right-hand rule.
qug -
SECTION-B [ Marks : 10
(v )
(CHEMISTRY)

4. TqEISH ARIHAT B AR &1 fadio AfRaT @l Hie TERNS S o 2
Define decomposition reaction. Write a balanced equation for decomposition
reaction.

5. Na,CO,.10 H,O% 9 M 9 & I ford 3

Write common name and two uses of Na,CO;.10 H,O.

5505/(Set : A)/ | P.T.O.



(4) 5505/(Set : A)

6. (a) WAV AES, A § $H e & ¢ I B 3
How does atomic size vary in a period ? Explain.
(b) MY o AR F Tt &9 dedl A HH-H AU © 7 2
In modern periodic table, which are the metals among first ten elements ?
AYAT
OR

IS (WA HEAT 7) T FRHRE (A HEA 15) T 9ROl & §YE 15 & I &
S S dedl H gadelh A e §H BT At ko1 fgq @ SR & ? 5
Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to

group 15 of periodic table. Write electronic configurations of these two
elements. Which of these will be more electronegative and why ?

qre - 9
SECTION-C [ Marks : 10
(cftr o)
(LIFE SCIENCE)
7. UG H I D T FE & 7 2
What are the functions performed by the testis in human beings ?
8. U H AFeE HIT H AR & SR 3
Draw a well-labelled diagram of the longitudinal section of a flower.
9. TS & SEEIHTT § BT St § St I FRA & faRe g @ e 7 5

What are the different ways in which glucose is oxidized to provide energy in
various organisms ?

AYAT
OR
(2) SOl IUE F GLHN I & Q9T 6 fafrEt @ Swn #a © 7 3
What are the methods used by plants to get rid of excretory products ?
(b) T der fwwart dwer § @ o B 7 2

What are differences between autotrophic nutrition and heterotrophic
nutrition ?

5505/(Set : A)/ |



CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2021

Roll No. SET : A
CEIR

SCIENCE
(Physics, Chemistry and Life Science)

HET - 11
PART - II

(aEgfrs 9%)

(Objective Questions)

(Academic/Open)
[ = T ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT T F T [ G F 5 J97-9 § FRT §T 8 T4 5797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o ghereff o1y U To FIT-UA T T [rE)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ Y@ 98 GrRET #Y o [ geT-9A §U 7 & 8, qhEr & I 59
G 4 g o arar @w e A aEm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T
General Instructions :
(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 e
Write correct answer in your answer-book.

5505/(Set : A)/ 1l P.T.O.




(2) 5505/(Set : A)

qg - A
SECTION - A [ Marks : 10
(e fam)
(PHYSICS)
1. 5l e # 99" 399 3@ & Y HIF-H1 U0 TR Bl © 1
(A) GHAA (B) S«
(C) 3Fdq (D) IYTHT qll
Which mirror is used as rear view mirror in vehicles ?
(A) Plane (B) Convex
(C) Concave (D) All of the above
2. S F T AT A B, TBLT B 1
(A) EaH | (B) SehIvH
(C) fagaer & (D) SUe &
The colour of sky is blue due to :
(A) Reflection (B) Scattering
(C) Dispersion (D) Refraction
3. =1 & § & Il & WREI ¥ 787 & 7 1
(A) S AR (B) AR Fott
(C) waT St (D) A9 ¥ e 7l
Which of the following is not a conventional source of energy ?
(A) Bio-mass (B) Solar energy
(C) Wind energy (D) None of these
4. = & & fEQ oM@y & SIAES HA-1 © 7 1
() R (B) awe
(C) F™ (D) I
Which of the following is SI unit of electric charge ?
(A) Ampere (B) Volt
(C) Coulomb (D) Joule

5505/(Set : A)/ I



(3) 5505/(Set : A)

5. Frfafad & @ SIF-A1 This ddqeT 787 & ¢ 1
(A) (B) Freet
(C) faEq (D) &
Which of the following is not a natural resource ?
(A) Water (B) Soil
(C) Electricity (D) Wind
6. WE 37 fRE W W g s 7 1
() feTed (B) uRdrE W
(C) gl W (D) i T
The human eye forms the image of an object at its :
(A) Retina (B) Iris
(C) Pupil (D) Cornea
7. S el & SO d H-A 9 3G 787 erl ¢ 1
(A)  FET ANFAES (B) e ERSiTTEe
(C) T SRS (D) SferireT
Which gas is not released during the burning of fossil fuels ?
(A) Carbon monoxide (B) Carbon dioxide
(C) Sulphur dioxide (D) Oxygen
8. WRA ¥ GMI UM & [T oif¥epas 6 g1 &1 WaNT fopam S & ° 1
(A) CNG (B) LPG
(C) iEen (D) e I
Which fuel is maximum used for cooking in India ?
(A) CNG (B) LPG
(C) Coal (D) Gobar gas

5505/(Set : A)/ 1l P.T.O.



9.

10.

11.

12.

13.

14.

(4) 5505/(Set : A)

99 R's § & g@ 'R &1 a1 o1 8 7

(A) HH ST (B) G: IWEM

(C) I =BT (D) Yl a4l
What is meaning of second Rin 5 R's ?

(A) Reduce (B) Reuse

(C) Recycle (D) All of the above

el ot Alifce aterEn TERE W T g Sl

1

(A) T A B (B) e SR &
(C) ordRakid T © (D) 3 & F13 Tl
In any physical or chemical process, the total energy :
(A) increases (B) decreases
(C) remain unchanged (D) None of these
qug —
SECTION-B [ Marks : 08
(v )
(CHEMISTRY)

THEX | UIT S A ST H AW o
Name the acid is present in tomatoes.
B Al H At X dT R Hd 8 7

Why do we apply paint on iron articles ?

T A H T € S A e F @ S ol

Name a non-metal which is liquid in nature.

T o1 M [ B8 AR § e S ol

Name a metal which is soft & can be cut with knife.

5505/(Set : A)/ I



(5) 5505/(Set : A)

15. 9 & § orHga Afee $E-81 § 7 1
(A) =T (B) Tt
(C) i (D) ® T
Choose unsaturated compound among the following :
(A) Methane (B) Ethanol
(C) Benzene (D) None
16. AgNO, + NaBr— AgBr + NaNO, & ? 1
(A) TS AR (B) ferdiom Aftishan
(C) faferemas stf¥ifshan (D) fareamas sri¥richan
AgNO; + NaBr —— AgBr + NaNO; is a :
(A) Combination reaction (B) Decomposition reaction
(C) Double displacement reaction (D) Displacement reaction
17. U9 § Heede® €99 © ¢ 1
(A) 6 B) 7
€ 8 (D) 9

Covalent bonds present in ethane are :

(A) 6 (B) 7
C) 8 (D) 9

18. THOF A°f & & et § fhe 3B & FAR & ? 1
(A) CH (B) CH,
(C) CH, (D) CH,

Two members of a homologous series differ by :
(A) CH (B) CH,
(C) CH, (D) CH,

5505/(Set : A)/ 1l P.T.O.



(6) 5505/(Set : A)

qls - 9
SECTION-C [ Marks : 12
(cftr o)
(LIFE SCIENCE)
19. 79 § g6 Th o H AN & o Hafed o ¢ 1
(A) N g (B) w@&d ¥
(C) S & (D) uRFe &
The kidneys in human beings are a part of the system for :
(A) Nutrition (B) Respiration
(C) Excretion (D) Transportation
20. @H qYo1 % fQ oaeE® & 1
(A) FHE SEAFAES T4 S (B) aFIither
(C) Td 1 Wb (D) IR |
The autotrophic mode of nutrition requires :
(A) Carbon dioxide and water (B) Chlorophyll
(C) Sunlight (D) All of the above
21. 1 & | &N 9a & A& ST G R A 78 8 7 1
(A) SfeiE (B) TS
(C) g (D) e

Which of the following is not a part of the female reproductive system in
human beings ?

(A) Ovary (B) Uterus

(C) Vas deferens (D) Fallopian tube

5505/(Set : A)/ I



(7) 5505/(Set : A)

22, f=fafed 4 @ 9 aes a1 WO g9+ 8 & ? 1
(A) a1g (B) S
(C) it (D) SYe a4l
Cross pollination is achieved by which of the following agents ?
(A) Wind (B) Water
(C) Animals (D) All of the above
23. 79 § § 3 SER-E #1 FEor Fd 2 7 1
(A) =, g T M (B) €€, S AT WG
(C) Fd, T =T wed (D) 99, A8l a1 TH
Which of the following constitute a food-chain ?
(A) Grass, wheat and mango (B) Grass, goat and human
(C) Goat, cow and elephant (D) Grass, fish and goat
24. 7= & § F-91 wE sFa-FreiEeng § 7 1
() T (B) =
(C) T®S (D) wiRes
Which of the following is a non-biodegradable substance ?
(A) Grass (B) Flower
(C) Wood (D) Plastic

25. 3 Sig N SAfed HED TS P G THED TG § T5d B He § e 39 ¥ 1
(A)  FTHTSH (B) IURH
(C) SeRIERt (D) HiERr

The organisms which breakdown complex organic substances into simple
inorganic substances and mix them in the soil :

(A) Decomposers (B) Producers

(C) Herbivores (D) Carnivores

5505/(Set : A)/ 1l P.T.O.



(8) 5505/(Set : A)

26. TR X H I ud q9Eg H1 B EHA T ..o a7 B B 1
(A) T (B) Sftiaet =T
(C) difreR &= (D) THENS qH<=H
Control and coordination are the functions of the harmones and ........... in our
body.
(A) Brain (B) Reflex arc
(C) Nervous system (D) Chemical coordination

27. HER AW H G qd1 A HA-A1 B 7 1

Which is the longest part of the alimentary canal ?

28. &Y # HF-H1 [T o B & 7 1
Which sex chromosome is present in males ?

29. A%y fHEA W Al B 7 1
(A) U (B) ®AGHIS
(C) (D) T & B 7
Spinal cord is protected by :
(A) Cranium (B) Vertebral column
(C) Ribs (D) None of these

30. A .......... % U9 % oM fauarer (faemedt) qerel H Sterd 6 1
Mendal had studied a number of contrasting visible characters in ..............
plants.

5505/(Set : A)/ I



CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2021

Roll No. SET : B
CEIR

SCIENCE
(Physics, Chemistry and Life Science)
AT -1
PART -1
(srreafores 599)

(Subjective Questions)

(Academic/Open)
[ =< Td il A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 2L hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

g-U A WA | i B AR (STetes) O AR (FRgRTe)| el @ QN An @ g
% IO B A IAX G § oG 31 90 1 AF-D GOEm SN 8N WX Ued SuR-gRas
3 a Rar stom @ AF-IL % [0 oRed @ O qe H wHd Rar S sreig wlen s
B ¥ O geT [ TOERi B -1 5 9eE-Ue R s

WH $ 9-0 § FA 9 U9 T AFHIL 3 S99-T & %A 30 9

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 9 and of Part-II are 30.

5505/(Set : B)/ | P.T.O.



, (2) 5505/(Set : B)
P T FY A [ I 3T JoT-GT § JET 7 4 7 597 9 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 9 questions.

T97-Y3 7 qlfe &1 @ T 79 T4 #S TR T @ B G F-YAH % FI-IE 97 [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FY T S T 0@ & X & G, F97 H HHIH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-giaaT % & H @il 9=/ 9= T 88

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfARET @ o e T& A o efeaEdgar & i@ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T 3F9T @)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 T 37 @ [@ B Grad F T & J9797 g T &l & GhET I 59
T 7 g o qrar w&hHe T8 RAT A3m

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FeT S &

All questions are compulsory.
(i) & FaT ar Jedl 7 s [[EeT BT JTET 8l

Internal choice has been provided in long answer type questions.
(iii) HEF FI9T & 7% ITH G790 TT &

Marks of each question are indicated against it.

5505/(Set : B)/ |



(3) 5505/(Set : B)

qls - A
SECTION - A [ Marks : 10
(Mo fom)

(PHYSICS)

1. (o) IR @ MU 77 SRWE & ? G GRATeE § gaifed fEg o) & wRer Sae
e & @ TR AR 3
What is solenoid ? Draw the magnetic field around a current carrying
solenoid.

(b) TRIMET 1 fROT-ged | forE 2
Write the Fleming's right-hand rule.
AYAT
OR
iR TRE Eiee fhdl fgq e & Rier @ SRl & aoe S 5
Explain principle and working of an electric motor by drawing a labelled
diagram.

2. fgq A o ey 09 & O I8 o1 B STUeT MY a1 & @&l a9 o § ¢ 2

Why are coils of electric toasters and electric irons made of an alloy rather
than a pure metal ?

3. Il I qUT AT UOT F =K fore 3
Write the difference between convex mirror and concave mirror.
gug —
SECTION-B [ Marks : 10
(vare )
(CHEMISTRY)

4. RN (TH] dedT 7) T BRGRE (TAT] €edr 15) 3Ed arell & &8 15 & 7 ol
S AN J@l B IAdele [ e 3 -9 a1 T faEq e iR @ ? 5

Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to
group 15 of periodic table. Write electronic configurations of these two
elements. Which of these will be more electronegative and why ?

YqT
OR

5505/(Set : B)/ | P.T.O.



(4) 5505/(Set : B)

(2) XA AEE, ofad # &4 Feqdl & ! 9o B 3
How does atomic size vary in a period ? Explain.
(b) oMY oTad ARl ¥ ved &9 qwl § HH-H gy ¥ ? 2
In modern periodic table, which are the metals among first ten elements ?
5. fESH SARichan i G €1 fadie ARk @i Sfe TEEiNe AR o 2
Define decomposition reaction. Write a balanced equation for decomposition
reaction.
6. Na,CO,.10 H,O% M= 99 9 § I gl 3
Write common name and two uses of Na,CO;.10 H,0.
gig - 9
SECTION-C [ Marks : 10
(cfter fomr)
(LIFE SCIENCE)
7. (a) SN IUE H BEHN UM & ¢ ey B R @ SwE #xd § 7 3
What are the methods used by plants to get rid of excretory products ?
(b) TFQS qen foueas Qe § ey SfaX ' ? 2

What are differences between autotrophic nutrition and heterotrophic
nutrition ?

3TeE
OR
HS F SAFNET A B Sfal F ot o A & A oy @ g v 5

What are the different ways in which glucose is oxidized to provide energy in
various organisms ?

8. AMA H U H T HA T ? 2
What are the functions performed by the testis in human beings ?
9. T & Tee FIC H AW o= =Y 3

Draw a well-labelled diagram of the longitudinal section of a flower.

5505/(Set : B)/ |



CLASS : 10th (Secondary) Code No. 5505
Series : Sec. April/2021

Roll No. SET : B
CEIR

SCIENCE
(Physics, Chemistry and Life Science)

HET - 11
PART - II

(aEgfrs 9%)

(Objective Questions)

(Academic/Open)
[ = T ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT T F T [ G F 5 J97-9 § FRT §T 8 T4 5797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o ghereff o1y U To FIT-UA T T [rE)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ Y@ 98 GrRET #Y o [ geT-9A §U 7 & 8, qhEr & I 59
G 4 g o arar @w e A aEm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T
General Instructions :
(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 e
Write correct answer in your answer-book.

5505/(Set : B)/ Il P.T.O.




(2)
gUE - &

SECTION - A
(s =)
(PHYSICS)

1. % Wi FUoT & a6l Bedr 20 dio 31 S8 Bihd g4 &4 B ?

5505/(Set : B)

[ Marks : 10

1

The radius of curvature of a spherical mirror is 20 cm. What is its focal length ?

2. AREF A9 B BEd g0 § GRacH A ST @

(A) Yool & (B) geel &rq
(C) gfteded & (D) uReRE &
The change in focal length of an eye lens is caused be the action of the :
(A) Pupil (B) Ciliary muscles
(C) Retina (D) Iris
3. UH & gl aon F Qe Ao Fed &l
(A) IgHEA TR (B) fagqor
(€) wFH (D) FrIT
The splitting of light into its component colours is called ............. .
(A) Atmospheric refraction (B) Dispersion
(C) Spectrum (D) Scattering
4. f4gd oEY & S. 1. qEH ©
(A) & (B) W
(©) Fd™ (D) awe
The S. I. unit of electric charge is :
(A) Ohm (B) Ampere
(C) Coulomb (D) Volt

5505/(Set : B)/ I



(3)

5505/(Set : B)

5. FfaRiad ¥ @ SH-91 Sg-HE SHolt HAd H e 78 & 7

(A)  HIFT
(C) whel

(B)
(D)

UICERK|
AR Holt

Which of the following is not an example of a bio-mass energy source ?

(A) Coal
(C) Wood

6. OX O 59 I § I9@1 ST B 7

(A) e
(C) i

Which element is used for making solar cell ?

(A) Iron
(C) Silicon

7. W= H B9-d T @ F e g 7

Which gas is present in bio-gas ?

(A) FIT

(C) Ao
(A) Methane
(C) Oxygen

8. T4 I & UH H-9l Holl Bt 7

A) TRafast
(C)

Which energy is possessed by flowing water ?

(A) Potential
(C) Nuclear
5505/(Set : B)/ Il

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(D)

(B)
(D)

(B)
(D)

Gobar-gas

Nuclear energy

foien

SIEL

Zinc

Copper

(A) @ (B) &

Hydrogen
Both (A) and (B)

et
I

Kinetic

Heat

P.T.

1



(4) 5505/(Set : B)

9. el afg R T WM & ? 1
Tehri dam is built on which river ?
10. T @HE QS0 H AR To9 IR f6F a9 F gorm o ? 1
(A) 1980 (B) 1985
(C) 2005 (D) 2016
The Ganga cleanliness scheme was started for the first time in the year ......... .
(A) 1980 (B) 1985
(C) 2005 (D) 2016
gle — §
SECTION-B [ Marks : 08
(TarE fasm)
(CHEMISTRY)

11. F€203 +2Al—>A1203 + 2Fe

I G T s R gk @ ' ? 1
(A) GINT oTffEaT (B) faae stffsmar
(C) ToreemasT tfishan (D) fefaengs siffshan

F€203 + 2Al—>A1203 + 2Fe

The above reaction is an example of a :

(A) Combination reaction (B) Decomposition reaction
(C) Displacement reaction (D) Double displacement reaction
12, SGET T ... AR 2 1
Respiration is an ............. reactions.
13. FOR S0 & 95 A & ¢ g Afegq Al &1 9 B o & 7 1

Name the sodium compound which is used for softening hard water ?

5505/(Set : B)/ I



(5) 5505/(Set : B)

14. HH- 91 FR & q9 R &G G F 9% A 5 7 1
(A)  Ag (B) Hg
(C) Au D) Zn

Which metal is found in liquid at room temperature ?

(A) Ag (B) Hg
(C) Au (D) Zn

15. NFHIREM H sAd~D [Oard 8 ¢ 1
A) 2,8, 1 B) 2,8,2
C) 2,8,3 (D) 2,8,5

Electronic configuration of Magnesium is :

a) 2,8, 1 B) 2,8,2
€) 2,8,3 (D) 2,8,5

16-§Wﬁ%@ﬁsﬁﬂfﬁ%@waﬁW%maﬂﬁa@mH .......... FEa
! 1

Bonds which are formed by the sharing of an electron pair between two atoms
are known as ................. .

17. 09 & TEENS G ¢ 1
(A) C:He (B) CsHs
(C) CsHiz (D) CsHio

Chemical formula of propane is :

(A) C:He (B) CsHs
(C) CsHiz (D) CsHio
18. FHET WANSA & §F dad [&-oTdg § I3 Fa & AN 71 Fead & ¢ 1

Compounds of carbon which are linked by only double bonds between the
carbon atoms are called .............. .

5505/(Set : B)/ Il P.T.O.
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gus - 9
SECTION-C [ Marks : 12
(s fomrT)
(LIFE SCIENCE)
19. @O QYT % o TETH © 1
(A)  FAH (B) G4 N TBI
(C) e SEATFRES (D) S |+l
The autotrophic mode of nutrition requires :
(A) Chlorophyll (B) Sunlight
(C) Carbon dioxide (D) All of the above
20. ..oooreenn. I BRR AR B S SRR A g @ X B fafe=T offtt 9 @ S &1 A

............... are the vessels which carry blood away from the heart to various
organs of the body.

21. f=fartad & | feee aa g § Sgaw s &R il § 7 1
(A) AT (B) ol oFw
(C) S (D) SiferdisT
Which of the following is transported through xylem tissue in plants ?
(A) Food (B) Amino acid
(C) Water (D) Oxygen
22. IR B FAGH-3S T UG Bl TEN vvvevennnnn. B @ A B 1

The vertebral column or backbone which protects the .............. .

5505/(Set : B)/ I
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23. st BT § QAT TER B Bl & S SThl TR T Faed &Ml @l el
EESIECI] 1
Muscle cell have special ............. that change both their shape and their

arrangement in the cell.

24. WEAMET ¥ s s Feiafed & | B By @ gar e ? 1
(A) G (B) fa@=
(C) =gEsd (D) HEet
Which of the following mode is involved in asexual reproduction in Spirogyra ?
(A) Fragmentation (B) Binary fission
(C) Multiple fission (D) Budding

25. =1 & @ &N 9Ma & AT S dF H AW 78 8 ° 1
(A) eI (B) THII™
(C) Fwmieh (D) gebertieHt

Which of the following is not a part of the female reproductive system in
human beings ?

(A) Ovary (B) Uterus
(C) Fallopian tube (D) Vas deferens

26. T AR 9@ ¥ e e e B © ¢ 1
How many pair of chromosomes are in male and female ?

27. e S A Sl § U AR B S & e ey B § ? 1
(A) T B)
(C) d (D) IR

How many copies of a gene for the same trait are there in sexually reproducing
organisms ?

(A) One (B) Two
(C) Three (D) Four
5505/(Set : B)/ Il P.T.O.
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28. EHERI HF-4 N &R W o & ? 1
(A) ToH (B) f&d=
(©) T (D) =gd
The herbivores come at which trophic level ?
(A) First (B) Second
(C) Third (D) Fourth

29. & FBM aRds & M Ry 1
Name two artificial ecosystems.

30. I Foll il QR ffRRT SffeRfe TUet (Oo) & fEfed #X ............ TR &I
2l ]

The higher energy UV radiations split apart some molecular oxygen into

5505/(Set : B)/ I
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Roll No. SET : C
CEIR

SCIENCE
(Physics, Chemistry and Life Science)
AT -1
PART -1
(srreafores 599)

(Subjective Questions)

(Academic/Open)
[ =< Td il A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 2L hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

g-U A WA | i B AR (STetes) O AR (FRgRTe)| el @ QN An @ g
% IO B A IAX G § oG 31 90 1 AF-D GOEm SN 8N WX Ued SuR-gRas
3 a Rar stom @ AF-IL % [0 oRed @ O qe H wHd Rar S sreig wlen s
B ¥ O geT [ TOERi B -1 5 9eE-Ue R s

WH $ 9-0 § FA 9 U9 T AFHIL 3 S99-T & %A 30 9

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 9 and of Part-II are 30.
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P T FY A [ I 3T JoT-GT § JET 7 4 7 597 9 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 9 questions.

T97-Y3 7 qlfe &1 @ T 79 T4 #S TR T @ B G F-YAH % FI-IE 97 [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FY T S T 0@ & X & G, F97 H HHIH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-giaaT % & H @il 9=/ 9= T 88

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfARET @ o e T& A o efeaEdgar & i@ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T 3F9T @)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 T 37 @ [@ B Grad F T & J9797 g T &l & GhET I 59
T 7 g o qrar w&hHe T8 RAT A3m

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FeT S &

All questions are compulsory.
(i) & FaT ar Jedl 7 s [[EeT BT JTET 8l

Internal choice has been provided in long answer type questions.
(iii) HEF FI97 & 7% IGH QT T TT &

Marks of each question are indicated against it.
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gus — JH

SECTION - A [ Marks : 10
(Mo fom)
(PHYSICS)

1. fogq e o faEq 09 & e g% o1g d oren M arg & S S © 7 2

Why are coils of electric toasters and electric irons made of an alloy rather
than a pure metal ?

2. I U qAT STadd U H ST} forg 3

Write the difference between convex mirror and concave mirror.

3. (a) URHAICER & oW 1 AU & ? T IR § Hared fagq @)1 & PRl S

e A @ TR AR 3
What is solenoid ? Draw the magnetic field around a current carrying
solenoid.

(b) TRIFHRT 1 foT-ged | ford 2
Write the Fleming's right-hand rule.
AYAT
OR
iR TR Eiee Rl fgq e & Rier ©d SRl & aoe S 5
Explain principle and working of an electric motor by drawing a labelled
diagram.
qig - §
SECTION - B [ Marks : 10
(TarE fasm)
(CHEMISTRY)

4. fqEF SARIhAT Bl GRS &1 fadior AfhaT @l Hie TERNE Sk ford 2
Define decomposition reaction. Write a balanced equation for decomposition
reaction.

5. Na,CO,.10 H,O% 9 M 9 & I ford 3

Write common name and two uses of Na,CO,;.10 H,O.

5505/(Set : C)/ | P.T.O.
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6. TEgoM (TH] edr 7) T HRGRE (WA §edr 15) 3ad arell & &8 15 & 7 ol
S AN Ol B Sl o o 9 -1 e ot o fagq e oY & ? 5
Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to

group 15 of periodic table. Write electronic configurations of these two
elements. Which of these will be more electronegative and why ?

HAYAT
OR
(a) XA WG, ofad # &4 Feqdl & ! 9o B 3
How does atomic size vary in a period ? Explain.
(b) oMYFE aMEd TRl & 9ed &9 qwdl § HH-9 age § ¢ 2
In modern periodic table, which are the metals among first ten elements ?
gig -
SECTION-C [ Marks : 10
(e fom)
(LIFE SCIENCE)
7. WG H qUT & T FE & 7 2
What are the functions performed by the testis in human beings ?
8. TS &l <= PIe P AHiwT T SR 3
Draw a well-labelled diagram of the longitudinal section of a flower.
9. (a) TN IUE H BLHN UM & ¢ ey B Rl &1 SwE &3 © 7 3
What are the methods used by plants to get rid of excretory products ?
(b) T qe Fwwart et F w R B ? 2

What are differences between autotrophic nutrition and heterotrophic
nutrition ?

3TeE
OR
H F SAFNET @ B Sfal F ot o A & A 9y @ g v 5

What are the different ways in which glucose is oxidized to provide energy in
various organisms ?

5505/(Set : C)/ |
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G 73T
General Instructions :
(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 e
Write correct answer in your answer-book.
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s -
SECTION - A [ Marks : 10
(fers Frmr)
(PHYSICS)
1. U% Mo 407 abar Bear 10 dfto 31 wa Bibd o @ Bnl ? 1
The radius of curvature of a spherical mirror is 10 cm. What is its focal length ?
2. A9 W O A )RR 9] AT s § 98w 1
(A) gt (B) Freved
(C) it (D) R
The human eye forms the image of an object at its :
(A) Pupil (B) Retina
(C) Cornea (D) Iris
3. MWUBT D oo % HROT feAfCH Jaid e ol 1
(A) IgHEA TR (B) SabIUie
(©) fagraer (D) T
The twinkling of a star is due to ............ of light.
(A) Atmospheric refraction (B) Scattering
(C) Dispersion (D) Spectrum
4. fOEQ o)1 &1 S.I. 9 B 1
(A) (B) W
(©) Fm™ (D) awe
The S. I. unit of electric current is :
(A) Ohm (B) Ampere
(C) Coulomb (D) Volt

5505/(Set : C)/ Il
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5. TF AR 9 § T el Rgd ol S &l ST Hhdl © 7 1
A) 0.1W (B) 0.5W
€) 0.7W (D) 1.0W

How many electricity can be produced by a solar cell ?

A) 0.1W (B) 0.5W
(C) 0.7W (D) 1.0W

6. SN § waife A= F B © 1
(&) Ha (B) e SRS
(C) ERRISH (D) 9
Maximum content of Biogas is :
(A) Methane (B) Carbon dioxide
(C) Hydrogen (D) Ethane

7. Th AU RET qEA Fott faga St & uRafia & S B 1
In a thermal power station ............. energy is converted into electric energy.

8. T 9@ W %A & [T &9 AR S A B SN b e 78 &Y wahd ? 1
(A) 94U a R (B) T A
(C) it aret fa= (D) a1 T R=
A solar water heater cannot be used to get hot water on :
(A) A sunny day (B) A hot day
(C) A cloudy day (D) A windy day

9. T IR T NG I B : 1
(A) PR I (B) ©F & M
(C) wiRes TEmT (D) (A)T (B) &

5505/(Set : C)/ 1l P.T.O.
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The industry based on forest products is :

(A) Paper industry (B) Sports equipment
(C) Plastic industry (D) Both (A) and (B)
10. ‘Faueh S fHad d@sfem @ ? 1
(A) FHgA | (B) < |
(C) arf & (D) 9Hi 9
The 'Chipko Andolan' is associated with :
(A) Turtles (B) Tomatoes
(C) Forest (D) Tigers
qug —
SECTION-B [ Marks : 08
(v )
(CHEMISTRY)

11. CaO(s)+ H,0(l)——> Ca(OH),(aq)

I G T el R R @ ' ? 1
(A) TN SARIRRAT (B) T Sfsispan
(C) foreemasT SAfHishan (D) fefaemgs sifwfsean

CaO(s) + HyO(l) —— Ca(OH);,(aq)

The above reaction is an example of a :
(A) Combination reaction

(B) Decomposition reaction

(C) Displacement reaction

(D) Double displacement reaction

12. foaee afRfer ... arfferar & faodia & 1

Decomposition reactions are opposite to ............. reactions.

5505/(Set : C)/ Il
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13. CaOCl, A 1 yafid AW &1 8 ? 1

What is the common name of the compound CaOCl, ?

14. =1 4 S org 9 § SEFT | HE ST El & 7 1
(A) Ca B) Zn
(C) Ag (D) Na
Which metal can be cut by knife easily ?
(A) Ca (B) Zn
(C) Ag (D) Na
15. TEHRE H TAFei~h O & : 1
(A) 2,8,1 (B) 2,8, 2
(C) 2,8,4 (D) 2,8,5

Electronic configuration of Phosphorus is :
A 2,8,1 B) 2,8,2
) 2,8,4 D) 2,8,5

16. Zﬁﬁiﬁiﬁi@fH@wﬁmﬁﬂﬁhﬂwﬁﬁ%ﬁa@ﬁﬁaﬁ@@%l(aﬂuwmw*H*;Les
gferenid HIE 8, T oo FEd o

A series of compounds in which the same functional group substitutes for
hydrogen in a carbon chain is called a ................. .

17. 3 F TEEND G B 1
(A) C2He (B) CsHs
(C) CsHio (D) GCsHi2

Chemical formula of butane is :
(A) CHs (B) CsHs
(C) CsHio (D) CsHi2

5505/(Set : C)/ 1l P.T.O.
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18. FHEY TS & d9 Had Uhd €Y § Jo HET $ ANEH 1 Fedld © ! 1

Compounds of carbon which are linked by only single bond between the
carbon atoms are called .............. .

grs - 9
SECTION-C [ Marks : 12
(cftr o)
(LIFE SCIENCE)
19. TRy § TEA9 SO ® 1
(A) SIS B g8 (B) Sl 1 a8
(C) SiferdToT &1 a8 (D) 38 & FF 7
The xylem in plants are responsible for :
(A) Transport of food (B) Transport of water
(C) Transport of oxygen (D) None of these
20, oeoieeenn = ot & SRR T @ aud &g § Al Bl 1
............... collect the blood from different organs and bring it back to the
heart
21. fr=feed & @ g gered & Sox ARE s wEe 78 g § 7 1
(&) e B) fxftaw
(C) =T (D) ERIFIND

Which one of the following substance is not secreted by gastric glands ?
(A) Pepsin (B) Tripsin

(C) Mucus (D) Hydrochloric acid

5505/(Set : C)/ Il
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22. TR IRX ¥ 0T 0§ 59T B B oovvnnnnnn . T e & R 1
Control and coordination are the functions of the .............. and .............. in
our bodies.

23. IR Bl FAGH-IS T UG Bl BEN vvvevvnnnnnnn B W FA B 1

The vertebral column or backbone which protects the ............... .

24. oY § i e Fefefag A g ffr ¥ S 2 2 1
A) Tsd (B) sg@sd
(C) HgeH (D) SR g«

Which of the following mode is involved in asexual reproduction in

Plasmodium ?

(A) Fragmentation (B) Multiple fission
(C) Budding (D) All of the above
25. WA § Bd © ¢ 1
(A) e (B) STeIH
(C) &=y (D) TRFTHT

The anther contains :

(A) Sepals (B) Ovwvules
(C) Carpel (D) Pollen grains
26. 1Y & T T U oM A A & o q yeifad & Hehal 2 1

Each trait of a child can be influenced by both paternal and maternal ........... .

5505/(Set : C)/ 1l P.T.O.
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27. B d T B © 1
(A) X B) Y
(C) XY (D) XX
Female have ............... chromosomes.
(A) X B) Y
(C) XY (D) XX
28. &g ST HIF-H A &R W A & ? 1
(A)  HeH (B) f&i
(€ T (D) =gd
Secondary consumers come at which trophic level ?
(A) First (B) Second
(C) Third (D) Fourth
29. f=fafad § | HF-a1 Tk qRas 78 © ¢ 1
(A) o (B) ki
©) & (D) &
Which of the following is not a natural ecosystem ?
(A) Forest (B) Pond
(C) Lake (D) Crop field
30. ieeiieirenn W G A AN Al G e & geEl B gR e w8l 1

................. layer shields the surface of earth from ultraviolet radiation from
the sun.

5505/(Set : C)/ Il
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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 9 and of Part-II are 30.
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P T FY A [ I 3T JoT-GT § JET 7 4 7 597 9 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 9 questions.

T97-Y3 7 qlfe &1 @ T 79 T4 #S TR T @ B G F-YAH % FI-IE 97 [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FY T S T 0@ & X & G, F97 H HHIH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-giaaT % & H @il 9=/ 9= T 88

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfARET @ o e T& A o efeaEdgar & i@ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T 3F9T @)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 T 37 @ [@ B Grad F T & J9797 g T &l & GhET I 59
T 7 g o qrar w&hHe T8 RAT A3m

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FeT S &

All questions are compulsory.
(i) & FaT ar Jedl 7 s [[EeT BT JTET 8l

Internal choice has been provided in long answer type questions.
(iii) HEF FI9T & 7% ITH G790 TT &

Marks of each question are indicated against it.
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qls - A
SECTION - A [ Marks : 10
(Mo fom)

(PHYSICS)

1. (o) IR @ oMU 7 SRWE & ? O aRATE § gaifed fREg o) & wRer Sae
e & @ TR AR 3
What is solenoid ? Draw the magnetic field around a current carrying
solenoid.

(b) TRIMET 1 fROT-ged | forE 2
Write the Fleming's right-hand rule.
AYAT
OR
iR TRE Eiee fhdl fgq e & Rier @ SRl & aoe S 5
Explain principle and working of an electric motor by drawing a labelled
diagram.

2. fgq A o ey 09 & O I8 o1 B STUeT MY a1 & @&l a9 o § ¢ 2

Why are coils of electric toasters and electric irons made of an alloy rather
than a pure metal ?

3. Il I qUT AT UOT F =K fore 3
Write the difference between convex mirror and concave mirror.
gug —
SECTION-B [ Marks : 10
(vare )
(CHEMISTRY)

4. TGS (TEY] WA 7) T FRHRE (AT @& 15) Ed aRell & @9 15 & ad o
S A dedl H gadelh e e §H BT d At kO fgq 8 SR & ? 5
Nitrogen (atomic number 7) and Phosphorus (atomic number 15) belong to

group 15 of periodic table. Write electronic configurations of these two
elements. Which of these will be more electronegative and why ?

YqT
OR

5505/(Set : D)/ | P.T.O.
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(2) XA AEE, ofad # &4 Feqdl & ! 9o B 3
How does atomic size vary in a period ? Explain.
(b) oMY oTad ARl ¥ ved &9 qwl § SH-H gy ¥ ? 2
In modern periodic table, which are the metals among first ten elements ?
5. fESH SARichan i G €1 fadie ARk @i Sfe TEEiNe AR o 2
Define decomposition reaction. Write a balanced equation for decomposition
reaction.
6. Na,CO,.10 H,O% M= 99 9 § I gl 3
Write common name and two uses of Na,CO;.10 H,0.
gig - 9
SECTION-C [ Marks : 10
(cfter fomr)
(LIFE SCIENCE)
7. (a) SN IUE § BEHR I & ¢ ey B R @ SwE #xd © 7 3
What are the methods used by plants to get rid of excretory products ?
(b) TFQS qer foueds Qe § wy SfaX ' 7 2

What are differences between autotrophic nutrition and heterotrophic
nutrition ?

3TeE
OR
HT F SAFAET A B Sfal F St o A & A oy @ g v 5

What are the different ways in which glucose is oxidized to provide energy in
various organisms ?

8. WM H qU B T FE & 7 2
What are the functions performed by the testis in human beings ?
9. Y9 F YR FHIT H THilb B T 3

Draw a well-labelled diagram of the longitudinal section of a flower.
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(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 e
Write correct answer in your answer-book.
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gg - A
SECTION - A [ Marks : 10
(s o)

(PHYSICS)

1. UF T ZUo7 & ahel Bowr 15 Ao §1 36 ®ikd U 1 8l ? 1
The radius of curvature of a spherical mirror is 15 cm. What is its focal
length ?

2. M ge & 99k & [C geuse a9 & oTedaH gl il o, AT 1
(A) 25 Ho (B) 2.5 @dlo
(C) 2.5 Ho (D) 25 GHlo
The least distance of distinct vision for a young adult with normal vision is
about :

(A) 25m B) 2.5cm
(C) 2.5m (D) 25 cm

3. THA D oorrnnn, % HROT A N T A S Bl ol 1
(A)  3T9EEe (B) YU
(©) fET (D) ¥
.............. of light causes the blue colour of sky.

(A) Refraction (B) Scattering
(C) Dispersion (D) Spectrum

4. iR # S. L 991% © 1
(A) = (B) TR
©) ™ (D) [

The S. I. unit of Potential difference is :
(A) Ohm (B) Ampere
(C) Coulomb (D) Volt

5505/(Set : D)/ I
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5. R il T AR TH G4 B TH i@ 1
Name one device based on solar energy.
6. M § B Fell F IURS ol 787 8 7 1
(A) AR St (B) St g
(C) SHaredt Fe (D) a9 feege
Which of the following is not a conventional source of energy ?
(A) Solar Energy (B) Hydro Power
(C) Fossil Fuels (D) Thermal Power
7. WS & S W IEEND Bl giRafcd 8 S @ 1
(A) T e | (B) ST Fil A
(C) (A) T (B) & H (D) ™ & & T
During the burning of a candle, the chemical energy converts into :
(A) Heat Energy (B) Light Energy
(C) Both (A) and (B) (D) None of these
8. o M # H-4 I 7&F &l B ? 1
(A) e (B) BRI
(C) TRFNH TTHES (D) Ao
Which gas is not present in Bio-gas ?
(A) Methane (B) Hydrogen
(C) Hydrogen Sulphide (D) Oxygen
- S o H S IO e HRe B 1
(A) @ (B) Fw
(C) 8™ (D) U=
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.............. is ancient water harvesting structures in Rajasthan.

(A) Khadins (B) Kulhs
(C) Bandharas (D) Pynes
10, o % I 8%d T Bl 1
(A) BRI (B) Siferdis
(C) e SRS (D) EgISH
.............. is a green-house gas.
(A) Hydrogen (B) Oxygen
(C) Carbon dioxide (D) Nitrogen
gug - §
SECTION-B [ Marks : 08
RGIREREEIR)
(CHEMISTRY)
11. CaCOs(s) —2N 5 CaO(s)+ CO,(g)
ST & T AR R TR @ B 7 1
(A) IS AR (B) TR srfetieean
(C) faremasT arf¥fshan (D) fafaeeme stf¥fshan

CaCO,(s) — 1 cao(s) + CO,(g)

The above reaction is an example of a :
(A) Combination Reaction (B) Decomposition Reaction

(C) Displacement Reaction (D) Double Displacement Reaction

12. 3 Affhad R iR & S TNl &1 STEH-UGH &1l 8, S8 ..ooveeennne. Fed B 1

Those reactions in which there is an exchange of ions between the reactants
are called .............. .
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13. 3fHT g, AT AT R ..o & forerr B 1
Baking powder, which is a mixture of baking soda and ............. .

14. -8 41 B USRI & AU AT § gL @M Sl © 7 1
(A) T (B) @rdl
(C) wifeaw (D) e
Which metal is kept immersed in Kerosene for storing ?
(A) Mercury (B) Silver
(C) Sodium (D) Iron

15. UgitEe &1 e fa=E © 1
A) 2,8,1 (B) 2,8,2
) 2,8,3 D) 2,8,5
Electronic configuration of Aluminium is :
A 2,8,1 B) 2,8,2
€ 2,8,3 (D) 2,8,5

16. U¥ STHJC SESHET N TF a1 1w Sex STET Bld & .ooveeveeee. FEA & 1
The unsaturated hydrocarbons which contain one or more double bonds are
called .............. .

17. U< & TEENS G B 1
(A)  CyHg (B) C3Hg
(C) CsHiy (D) C4Ho

Chemical formula of Pentane is :
(A) CyHg (B) C3Hg
(C) CsHyp, (D) C4H;p
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18. HEY & GINTHR & ¢ 1
(A) 2 (B) 3
C) 4 (D) 5

Valency of carbon is :

(A) 2 (B) 3
C) 4 (D) 5
gus — g
SECTION-C [ Marks : 12
(S fomm)
(LIFE SCIENCE)
19. 7 ¥ g6 Th o F AN & o Hafed o ¢ 1
(A) @ (B) W99
(C) URaed (D) IS
The Kidneys in human beings are a part of the system for :
(A) Respiration (B) Nutrition
(C) Transportation (D) Excretion
20. ..o MERAIT 1 999 a1 90 &l 1

.............. is the longest part of the alimentary canal.

21, Frfafed & § $F-d 9k oGl § 9@ @@ @RS q@ S JuRgEra § e el
1

g7
(A) e B) &
(C)  TeBIST-HeeAToT (D) aTIESI
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Which of the following process helps in the upward transportation of water
and minerals in plants ?

(A) Respiration (B) Growth
(C) Photosynthesis (D) Transpiration

22, AR ¥ AET9 &l M B & & ¢ 1
Which part of human body protects the spinal cord ?

23. BAR SR | I T T A B .............. q°T BN H Bl 1
Control and Coordination are the functions of the .............. and harmones in
our bodies.

24, T # oFcifieh S Frfoieaa & @ e fafr & 2 @ 7 1
(A) TsA (B) &=
(C) fag=A (D) g
Which of the following mode is involved in asexual reproduction in Amoeba ?
(A) Fragmentation (B) Multiple fission
(C) Binary fission (D) Budding

25. ffated § & 9 Slig & A & & R W &I & 999 ged G el § 7 1

(A) TN (B) woHIsTH
(C) o (D) e
Which of the following organisms have a whip like structure at one end of the
cell ?
(A) Spirogyra (B) Plasmodium
(C) Amoeba (D) Leishmania

26. ..o oM 39 9 & FeRer & 8, Pes s e qeer oof Rsaasaa &
ERINC I 1
The rule of .............. determine the process by which various traits and

characteristics are reliably inherited.
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27.

28.

29.

30.

5505/(Set :

T8 H e oA B Bl

(A) X (B) Y
(C) XY (D) XX
Male have .............. chromosomes.

A) X B) Y
(C) XY (D) XX
frfifed & & 39 SR <@ & T #d § 7

(A) H, HSAl a9 Sl
(C) 919, TR a9 AF

(B) oM, T AT MM
(D) 99, A8l a9 T

Which of the following constitue a food chain ?

(A) Grass, Fish and Goat

(C) Grass, Goat and Human

(B) Grass, Wheat and Mango
(D) Grass, Fish and Cow

=i & @ g O WX @ SRR gefad ® 7

(A) ToH (B) f&d=

(€) g (D) =gd
Herbivores belongs to which of the following trophic level ?
(A) First (B) Second

(C) Third (D) Fourth

frrfofag & @ fred CFCs &1 ISUAI foham Siar B 7

(A) IPEeTREX
(C) (A) AR (B) A ¥

In which of the following CFCs is used ?

(A) Refrigerator
(C) Both (A) and (B)

5505/(Set : D)/ I

(B) SARHIHA
(D) 3T & %13 &

(B) Fire Extinguisher
(D) None of these

D)



